4. The vectors below show five forces that can be applied individually or in combinations to an

object. Which forces or combinations of forces will cause the object to be in equilibrium? .
Exercises 8-9: The figures show free-body diagrams for an object of mass m. Write the x- and

y-components of Newton’s second law. Write your equations in terms of the magnitudes of the

forces Fy, Fy, ... and any angles defined in the diagram. One equation is shown to illustrate the
e . 5
7 2 . % procedure.
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5. The free-body diagrams show a force or forces acting on an object. Draw and label one more 7 vE
force (one that is appropriate to the situation) that will cause the object to be in equilibrium. ’ G
y | )
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6. The free-body diagrams show a force or forces acting on an object. Draw and label one more
force (one that is appropriate to the situation) that will cause the object to be in equilibrium. E g
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, are exerted on a 2 kg

iagram

Two or more forces, shown on a free-body di

Exercises 10-12

object. The units of the grid are newtons. For each:

-

t the origin, to show the net force F,,.

* Draw a vector arrow on the grid, starting a

¢ In the Space to the right, determine the numerical values of the components @, and a,.
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